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The following table-1 shows the percentage (%) market share of sale of buses of six different automobile
companies A-F in the Financial Year (FY) 2020-21 and table-2 shows the percentage (%) of six different bus
models P-U sold by the automobile company A.

Based on the data in the table, answer the question.

Table-1 : Company-wise Sale of Buses

Company Dhstribution (%0) of sale of Buses
41%

8%

7%

3%

1%

40%
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Table-2 : Model-wise Sales of Buses by Company A

Model Sale (%0) of Bus Models

P 18%

Q 25%

I 12%

5 15%

T 20%

7 10%
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If the number of buses sold by F is 40000 in FY 2019-20 and the percentage growth in sale of buses is 12%% in

FY 2020-21, then how many units have been sold by B in FY 2020-21?

. 12000
. 11000
. 10000
. 9000
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1. 12000
2. 11000
3. 10000
4. 9000
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=43501] Question Description : general_paper_genarel paper_set 35_english_q1
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The following table-1 shows the percentage (%) market share of sale of buses of six different automobile
companies A-F in the Financial Year (FY) 2020-21 and table-2 shows the percentage (%) of six different bus
models P-U sold by the automobile company A.

Based on the data in the table, answer the question.

Table-1 : Company-wise Sale of Buses

Company Distribution (%) of sale of Buses
41%

8%

7%
3%
1%

40%
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Table-2 : Model-wise Sales of Buses by Company A

Model Sale (%) of Bus Models

P 18%

Q 25%

E. 12%

5 15%

T 20%

19 10%
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P 18%
Q 25%
R 12%
S 15%
T 20%
U 10%

What is the approximate percentage of buses sold by C with respect to that of models R sold by A in the FY
2020-21, if the number of buses sold by D is 33757

. 142.28%

.131.15%
3.135.52%
4.132.82%

1)1

(2) 2

3) 3

4) 4
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(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=43505] Question Description : general_paper_genarel paper_set 35_english_q2
2[Option ID=43506]
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The following table-1 shows the percentage (%) market share of sale of buses of six different automobile
companies A-F in the Financial Year (FY) 2020-21 and table-2 shows the percentage (%) of six different bus
models P-U sold by the automobile company A.

Based on the data in the table, answer the question.

Table-1 : Company-wise Sale of Buses

Company Distribution (%) of sale of Buses
41%

8%

7%
3%
1%

40%
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Table-2 : Model-wise Sales of Buses by Company A

Model Sale (%) of Bus Models
18%

H[A [ =[O
=
[ %)
(=]
s

20%
] 10%

ﬁqﬁr@ﬂm-l T fa<ia g (FY) 2020-21 H T8 (4 ficHIESd $UMT! A-F gRI S41 &1 (9] BT
STSIR TR UiTrd (%) TafRid & qu diferdbr2 # sifcTHIasd du-l A gR1 &9 T g Hel 58 & Alsdl
P-U &1 UIA=I (%) WalRid g | d1fers 1 38 T 3Hds & ATUR IR Y HI 3R alfol :

dIfeibl-1 : HUAAR F91 DI [debl

eal

(51 P el &1 fIRT (%)
41%

8%

7%
3%
1%

40%

'-dh‘]Ut‘JUdb%;

dIfelbI-2 : HUT A GRIHAISA-dR a4 D] faeh]

BIEH EREIENIGARCEATED)
P 18%
Q 25%
R 12%
S 15%
T 20%
U 10%

What is the ratio of the number of buses sold by B to the number of models R sold by A in the year 2020-21?

. 100:61
1:3
3
.200:123
11
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1. 100:61
2,123
3.3:7
4,200:123
(1) 1
(2) 2
3) 3
4) 4
1[Option ID=43509] Question Description : general_paper_genarel paper_set 35_english_q3
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The following table-1 shows the percentage (%) market share of sale of buses of six different automobile
companies A-F in the Financial Year (FY) 2020-21 and table-2 shows the percentage (%) of six different bus
models P-U sold by the automobile company A.

Based on the data in the table, answer the question.

Table-1 : Company-wise Sale of Buses

Company Distribution (%) of sale of Buses
41%

8%

7%
3%
1%

40%
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Table-2 : Model-wise Sales of Buses by Company A

Model Sale (%) of Bus Models
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P 18%
Q 25%
R 12%
S 15%
T 20%
U 10%

What is the approximate percentage of number of buses sold by D to that of models P sold by A in 2020-217

1. 50%
2.35%
3. 40.65%
4, 38.72%
(1) 1
(2) 2
(3) 3
(4) 4
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1. 50%
2.35%
3. 40.65%
4, 38.72%
) 1
) 2
3) 3
(4) 4
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The following table-1 shows the percentage (%) market share of sale of buses of six different automobile
companies A-F in the Financial Year (FY) 2020-21 and table-2 shows the percentage (%) of six different bus
models P-U sold by the automobile company A.

Based on the data in the table, answer the question.

Table-1 : Company-wise Sale of Buses

Company Distribution (%) of sale of Buses
A 41%

B 8%

C 7%

D 3%

E 1%

F 40%

Table-2 : Model-wise Sales of Buses by Company A

Model Sale (%) of Bus Models
18%
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If the number of buses sold by F is 40000 in FY 2019-20 and the percentage growth in sale of buses is 12%%

in FY 2020-21, then what is the average number of buses sold by D, C, B and E in FY 2020-21?

1. 4035.64
2.2334.45
3. 2137055
4.5343.75

1)1

(2) 2

3) 3

(4) 4




afe, fa<ita avf 2019-20 H F g1 <1 75 991 &1 T 40000 © 3R fa<iy a¥ 2020-21 H a0 &t fawt &
IR E| 12%% 2. i faxiig av 2020-21 HD. ¢, B 3R E gRI S 7S &9 &1 3i9d S@11 {1 g 2

1. 4035.64
2.2334.45
3. 213755
5343.75

=

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43517] Question Description : general_paper_genarel paper_set 35_english_q5
2[Option ID=43518]

3[Option ID=43519]
4[Option ID=43520]
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How many DTH channels of swayamprabha are devoted to telecasting of high quality educational
programmes?

1. 37 DTH channels
2. 39 DTH channels
3. 36 DTH channels
. 34 DTH channels

1) 1
) 2
(3) 3
(4) 4
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1[Option ID=43521] Question Description : general_paper_genarel paper_set 35_english_q6
2[Option ID=43522]
3[Option ID=43523]
4[Option ID=43524]
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Which of the following are the intellectual development characteristics of Adolescents ?

A. Imagination

B. Abstract emotions

C. Thinking and reasoning
D. Span of attention.

Choose the most appropriate answer from the options given below:

.B, C and D only
.Band D only
.A, CandD only
.A,Band D only
1

2) 2

(3) 3

(4) 4
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1[Option ID=43525] Question Description : general_paper_genarel paper_set 35_english_q7
2[Option ID=43526]
3[Option ID=43527]
4[Option ID=43528]
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A flipped classroom environment promotes:

1. Flexible learning culture
2. Fixed Learning culture
3. Face to face learning only
4. Fixed and passive learning culture.
(1) 1
(2) 2
3) 3
4) 4
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1[Option ID=43529] Question Description : general_paper_genarel paper_set 35_english_q8
2[Option ID=43530]
3[Option ID=43531]
4[Option ID=43532]
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Given below are two statements:

Statement I: Canvas is a Learning Management System (LMS) that supports online teaching and learning.

Statement II : Canvas is a paid LMS.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct.
2. Both Statement I and Statement II are incorrect.
3. Statement I is correct but Statement IT 1s incorrect.
4. Statement I is incorrect but Statement I is correct.
1
(2) 2
(3) 3
(4) 4




e g Fua Bw oaw &

AT I : heaara T 3T vdua uomelt (TerwATd) ¥ S s 9er og 3¥ed & merar el
AT & |

HYF 11 . HFarH UH guyed TATHATE © |
3L U & Al A, A few aw faeheul # @ Hgd 3Ugw Id¢ @ G9U4 Il

l.oua I Hw I =t |98 &

[ 2]

.y 1 3R 1 &E! aeid ¥

. HUS 1 98 %, ofthd YA I areig

L¥5]

4.5 1 a9 &, dfd FIT 0L |/ ¥ |
(1) 1
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1[Option ID=43533] Question Description : general_paper_genarel paper_set 35_english_q9
2[Option ID=43534]

3[Option ID=43535]
4[Option ID=43536]
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Jigsaw strategy is an example of:

. Problem solving

. Cooperative learning

3. Team teaching

4. Lecture-cum-Demonstration

1)1
(2) 2
(3) 3
(4) 4
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1[Option ID=43537] Question Description : general_paper_genarel paper_set 35_english_q10
2[Option ID=43538]
3[Option ID=43539]
4[Option ID=43540]
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In case the focus of regearch is to improve a school in which students are participants and research supervisors
are teachers, such a research is termed as :

1. Basic research
2. Traditional research
3. Supervisory research
4. Action research

(1) 1

(2) 2

(3) 3

(4) 4
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(1) 1

2) 2

3) 3

(4) 4

1[Option ID=43541] Question Description : general_paper_genarel paper_set 35_english_q11
2[Option ID=43542]

3[Option ID=43543]
4[Option ID=43544]
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Selection or assignment of groups of people instead of individual respondents, based on the membership of a
group, location or some other identified variable for sampling is labelled as :

1. Location sampling
2. Stratified sampling
3. Cluster sampling
4, Collective sampling
1)1
(2) 2
3) 3
4) 4
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1[Option ID=43545] Question Description : general_paper_genarel paper_set 35_english_q12
2[Option ID=43546]
3[Option ID=43547]
4[Option ID=43548]
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In correlational research, the deseription iz of the relationship between:

. Nominal variables

. Interval variables
3. Intervening variables
4, Chance variables

(1)1

(2) 2

(3) 3

(4) 4
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(3) 3
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1[Option ID=43549] Question Description : general_paper_genarel paper_set 35_english_q13
2[Option ID=43550]
3[Option ID=43551]
4[Option ID=43552]
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What are the three types of auto-ethnography?

A, Unobserved tales
B. Confessional tales
C. Impressionist tales
D. Critical tales

E. Formatted tales.

Choose the correct answer from the options given below.

1. A Band C only
2.B.Cand D only
3.C.Dand E only
4, A, D and E only

1)1

(2) 2

3) 3

4) 4
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1.PATA, B.C
2.%du B, C, D
3. %90 C,D,E
4. PdTA,D.E
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=43553] Question Description : general_paper_genarel paper_set 35_english_q14
2[Option ID=43554]

3[Option ID=43555]
4[Option ID=43556]
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Given below are two statements:

Statement I: Different research designs have different advantages. For example, the one-shot design is known
for quick results and efficiency.

Statement I : A longitudinal design is to study the same respondents over different periods of time and tracks
changes over the period of study.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement II is false.
4. Statement I is false but Statement IT is true.

(1) 1

) 2

3) 3

(4) 4
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(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=43557] Question Description : general_paper_genarel paper_set 35_english_q15
2[Option ID=43558]

3[Option ID=43559]
4[Option ID=43560]
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When communicators use their positive or good image to reduce negative feelings towards a product brand, it
implies

. The prineiple of congruity

. The principle of conformity
3. The principle of connivance
4, The principle of conviction

1)1

(2) 2

(3) 3

(4) 4
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3. fiyeit-verd &1 Rgia
4. T¢ YRUN &1 Rrgia
1) 1
() 2
3) 3
4) 4
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1[Option ID=43561] Question Description : general_paper_genarel paper_set 35_english_q16
2[Option ID=43562]
3[Option ID=43563]
4[Option ID=43564]
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Which type of appeals work effectively when people are not strong and the source credibility is high?

1. Informative appeals
2. Positive appeals
3. Benefit appeals
4. Negative appeals
1)1
2) 2
(3) 3
(4) 4
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1)1

(2) 2

3) 3

(4) 4

1[Option ID=43565] Question Description : general_paper_genarel paper_set 35_english_q17
2[Option ID=43566]

3[Option ID=43567]
4[Option ID=43568]
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Which of the following are considered as more trustworthy than others in communication?

. Sales Persons
. Paid reviewers
3. Friends
4. Strangers
(1) 1
2) 2
(3) 3
(4) 4
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(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43569] Question Description : general_paper_genarel paper_set 35_english_q18
2[Option ID=43570]

3[Option ID=43571]
4[Option ID=43572]
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Which of the following can be considered as semantic barriers in communication?

A Functional specialization

B. Organizational policy

C. Faulty translation

D. Use of technical language
E. Unqualified assumptions

Choose the correct answer from the options given below:
A, B. Conly

5
B.C.D only
B.D.E only
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(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43573] Question Description : general_paper_genarel paper_set 35_english_q19
2[Option ID=43574]

3[Option ID=43575]
4[Option ID=43576]
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Given below are two statements:
Statement I: Personal communication is more effective than mass communication.

Statement II : Mass media may be a major stimulant of personal communication, affecting personal attitudes
and behaviour through a two-step flow.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement I are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II 1s false.
4, Statement I is false but Statement I is true.

(1)1

(2) 2

3) 3

(4) 4
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(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=43577] Question Description : general_paper_genarel paper_set 35_english_q20
2[Option ID=43578]

3[Option ID=43579]
4[Option ID=43580]
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What number would replace question mark (?) in the series given below: 2, 9, 20, 35, 54, 77, 2, 135

13
. 104
3.125
4. 08
(1) 1
(2) 2
(3) 3
(4) 4

2 i i gmen § o I We vy g (0) o wfowifid st

2,9, 20, 35, 54, 77,2, 135

o =

1.131
2.104
3.125
.98
1 1
(2) 2
(3) 3
(4) 4
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1[Option ID=43581] Question Description : general_paper_genarel paper_set 35_english_q21
2[Option ID=43582]
3[Option ID=43583]
4[Option ID=43584]
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In how much time an investment of Rs. 50,000 at the rate of 5% simple interest would be doubled. if the
interest is added to the principal amount after every 10 years

,_.
—
(=]

b}

cars

a2
[
Ln
!
0
[+7]
=1
o

L
—
-1
s
Ll
B
7]

4.

=
=]

W WK Gy Wk

el
a
£
~
7

1
@ 2

(3) 3

) 4

Ife U 10 94 & T SITS 1 I o 1SS a1 ST €, 1 5% YR &a1sl 1 &3 4 50,000 1 a9
fopct g © g1 E1 &I 2

1. 16% ay

o 5] [
= —

o) o) s
WIE Wk Gy

(1) 1

(2) 2

(3) 3

(4) 4
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The average of 8 numbers is 30. Out of those 8 numbers, the average of first 2 numbers is 26 and that of next

three numbers is 28. The sixth number is less than seventh (Tlh) by 3 and less than eighth by 5. Find the eighth
number.

|

o
Doda Lo L
b D

(1) 1

(2) 2

(3) 3

(4) 4

8 GReT3ff T 3 30 © | 37 8 Tl & T wyd g1 Jw=naff &1 3id 26 3R 3pTal diF Semsii &1 aied
28 % | B3] T Trad Y= Y 3 HH E aUT N34T G Y 5 HH € | 36d] Y= J1d B |

Rl e
b
J

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43589] Question Description : general_paper_genarel paper_set 35_english_q23
2[Option ID=43590]

3[Option ID=43591]
4[Option ID=43592]
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A person has Rs.5,350 in the form of denomination of Rs. 50, Rs. 100 and Rs. 500 and the total number of
notes with him is 32. Find how many notes of Rs. 50, Rs. 100 and Rs. 500 denominations, respectively, he has
with him?

SETE
.14, 12,
13,12,
53,
1) 1
(2) 2
(3) 3
(4) 4

7% et Afe & U 3. 50, F. 100 3R . 500 P Teaw & vUH T, 5350 B 3R I U Arc] B pa
AT 32 § | A1 A DI o S8 U . 50, 3. 100 3R ¥. 500 TeTaT| & HHRE: fba Al § 2

14,11,
14,12,
312,
d5E
1) 1
(2) 2
(3) 3
(4) 4

R
=1 S

Wk
-1 S =l

1[Option ID=43593] Question Description : general_paper_genarel paper_set 35_english_q24
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In a certain coded language:

A 'du ra si ama' means 'Dogs are social animals'
B. 'ko ra ma ama' means Donkeys are mad animals'
C. 'du ko da hu' means Dogs, Donkeys and horses'

In this coded language, which of the words stand for 'mad' and 'social' respectively?

. ma' and 'ko’

. du' and 'ama’
.ma' and "s1'

. ama' and 'si’
(1)1

(2) 2

(3) 3

(4) 4

g1 et pe v H

A g U E amr %1 o § 't wrmifeie ot gl ©
B. &I I AT 1 &1 31 § 718 grTe wiv € ©
C. g DI SIF &I 31 § P, Y IR T

T 58 Peag YN H Fafiied I 9 ook e SR |Hiod Weal o1 312 71 g 2

o SR ¥
3T 3R
(1) 1

2) 2

(3) 3

(4) 4

da Lo b

R

1[Option ID=43597] Question Description : general_paper_genarel paper_set 35_english_q25
2[Option ID=43598]
3[Option ID=43599]
4[Option ID=43600]
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Identify the informal fallacy in the following argument - "No one has ever given an indubitable proof
regarding impossibility of life on Planet X therefore one can conclude that there is life on Planet X",

1. Appeal to Ignorance
2. Red Herring
3. Straw man
4. Appeal to Inappropriate authority
1)1
(2) 2
3) 3
(4) 4
FafaRad gidd & SFPIRS dda &I Ugdl-U - "SUUE X WR SIa &1 UG & aR § fbafl = off
?ﬂ;ﬁ%ﬂ?ﬁ@%ﬁ&qﬁﬂ@m?mﬁiﬁ%ﬁﬁﬁ%ﬁw%ﬁimxw

1. RIS gfed
2. %8 glkm
3. ©ITE &1 Al ()
4. 3IUgad UIIUPR U5
(11
(2) 2
(3) 3
(4) 4

1[Option ID=43601] Question Description : general_paper_genarel paper_set 35_english_q26
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3[Option ID=43603]
4[Option ID=43604]
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As per traditional square of oppoesition which of the following statements are sub alternate?

A. All plants are oxygen-producers.

B. No plants are oxygen producers.

C. Some plants are not oxygen producers.
D. Some plants are oxygen-producers..

Choose the correct answer from the options given below:

.B and D only
.C and D only
. B and C only
. A and B only
1)1
(2) 2
3) 3
(4) 4

RIRATE faRiy a7l & SR Fafafed $1H-8 Y= 3uidd & 2

A. 1) U1gY oA 3UEH © |

B. P1s 21 UTeY i SdEs I © |
C. T UIGY HFHIeH 3G el o |
D. $© Uy SHIHioH IdEH § |

A B 97 Aeedl # & 8 =E @ 99 Difag:

1. $ad B 3R D
2. Had C AR D
3. HAB AR C
4. PITARB

) 1

() 2

3) 3

@) 4

B R O R

1[Option ID=43605] Question Description : general_paper_genarel paper_set 35_english_q27
2[Option ID=43606]
3[Option ID=43607]
4[Option ID=43608]
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Which of the following statements are logically equivalent?

A. Some animals are not carnivorous organisms.

B. Some animals are not non-carmivorous organisms,

C. Some non-carnivorous organisms are not non-animals.
D. Some animals are non-carnivorous organisms.

Choose the correct answer from the options given below:

.Band D only
A, Band D only
A, Cand D only
.B and C only
(1) 1

(2) 2

(3) 3

(4) 4

ok

L




FEfeRad o © 3 -9 $uF diid® =0 9 90de &

A. TS THAR, TBRI oid 781 © |

B. PO 9H&R, IR-ANGERI Sia 781 & |
C. % IR-AMERI oild, TR-SHaX 781 § |
D. T THR, IR-AERRI Sa § |

e Br 7w Peeul & O IRl S0E o 99 hiaT:

1. ®ad B 3R D
2. $aAA, B3R D
3.%ddA, C3IRD
4. HaAB AR C
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=43609] Question Description : general_paper_genarel paper_set 35_english_q28
2[Option ID=43610]

3[Option ID=43611]
4[Option ID=43612]
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If the statement "No lions are herbivorous animals”, is given as true, then which of the following statements
can be immediately inferred to be false?

A, All lions are herbivorous animals.
B. Some lions are herbivorous animals.
C. Some lions are not herbivorous animals.

Choose the correct answer from the options given below:

. B only

A and B only
.Aand C only
. C only

1)1

) 2

3) 3

4) 4

lE B "Iy Hl IR MSTERT SR ol 6101 6" DI Hed o vY # 341 7T 8 al FAAREd -3 YT
BT ATHI® $U J A B BT S g1 o Tl § 2

A. T IR MHER TR T |
B. $% I DERI AR © |
C. D W ABERI AR 761 © |

A Bw 97 TAdedl # & 8 3 @ 99 Dilag:

1. $ad B
2. BT AR B
3. BITAARC
4.$ad C

1) 1

) 2

3) 3

(@) 4

B I N
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Which of the following type of inference is based on mere co-existence of middle and major term as per
classical Indian school of Logic (Nyaya)?

. Sadhyasama

. Samanyatodrsta
3. Shesavat
4. Purvavat

(1) 1

(2) 2

3) 3

4) 4

lﬂ?‘cﬂqqgm‘]u A (A1) & IR FEfiRad S1H-91 S0, T4 SR Wd Ug & 0H Je-3if&ia =
STYURA T 2

1. 91em9gy
2. gAY
3. ¥yad
4. qdad
1) 1
) 2
(3) 3
(4) 4

b =

1[Option ID=43617] Question Description : general_paper_genarel paper_set 35_english_q30
2[Option ID=43618]
3[Option ID=43619]
4[Option ID=43620]
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Consider the following snapshot of MS-Excel worksheet:

A B C D

1 Roll Number Marks Test- 1 Marks Test - 2 Total Marks
2 10 &0 60 140
3 102 70 50 120
4 103 40 30 70
5 104 30 32 62
6 105 &5 85 170
7 106 635 80 145
8 107 72 96 168
9 108 25 32 57
10 109 90 78 168
11 110 25 40 65
12

The formula =IF (B10 + C10>100, IF (D10 = 100, "A"."B"), "C"} in cell D12 will result in

A
B
C
AC

B2 e

baa

(1) 1
) 2
3) 3
(4) 4




THUY - TRId ddhRiie & Hafarad o1e] e w fdar Sifen -

A B C D

1 R |30 udiar -1 3fe ULIar -2 Gl AP
D 101 80 60 140
3 102 70 50 120
4 103 40 30 70
5 |04 30 32 62
6 ||105 83 85 170
7 |06 65 80 145
8 |07 72 96 168
9 108 25 32 57
10 109 90 78 168
11 110 25 40 65
12

YDy D12 H =IF (B10 + C10>100, IF (D10>100, "A", "B"), "C") T BT URUMH B |

1.A
2.B
3.C
4, AC
(1)1
) 2
3) 3
(4) 4

1[Option ID=43621] Question Description : general_paper_genarel paper_set 35_english_q31
2[Option ID=43622]
3[Option ID=43623]
4[Option ID=43624]
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Given below are two statements:

Statement I: Trojan Horse is a malware program designed to restrict the access to the victim's data until victim
pays for it.

Statement IT : Google's G-Suite and GitHub are examples of SaaS Cloud Computing.
In the light of the above statements, choose the correct answer from the options given below:

. Both Statement I and Statement IT are true.
. Both Statement I and Statement IT are false.
. Statement I is true but Statement IT is false.
. Statement I is false but Statement II is true.
1) 1
(2 2
(3) 3
4) 4

T R R




A o1 Fua Bw o g

FU | : g R Ueh AT WA § Al 596 NS & 3T a% 3UNTAA & a9 o Uiaaied 1@dr § o9 ok 1o d9ifid 396 B
IO 7 R g

wue |l @ 7@ & Si-gse 3R fMiege vavvTH(Saas) #ass &ogfea & 3G § |

IGIET FUT F HeE A, SO Y a0 Geedt # O Gh 39 #1939 hifer:

1. wue | 3R Il St g &

[~

LT | RN A s E

ad

. U | T &, et wueT | 3T §

4, woret | 3EcT &, oifhe et [l @ & 1
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=43625] Question Description : general_paper_genarel paper_set 35_english_q32
2[Option ID=43626]

3[Option ID=43627]
4[Option ID=43628]
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Which of the following statements about the URL given below are correct?

hitp://www.mygov.in/index html

A. http is the name of the protocol and stands for HyperText Transaction Protocol
B. .in is a top-level domain name and represents a website hosted in India
C. mygov. is a second-level domain name in the name of the website.

Choose the most appropriate answer from the options given below:

. A and B only
A and C only
. B and C only
A, Band C
1) 1

2) 2

(3) 3

(4) 4

TR TR & Sy Fa H A e S FUT el 2

=

[¥5]

e

http://www.mygov.in/index html

A. http U WICTaId &1 AT g forde1 Jul ¥ § SIEWR CRe ¢iolaRM WieidId |
B. .in U% IR SIHH A 8§ 3R U8 YRd H g (A9aH! 31 715) dauiel &l UafHfid axar g |
C. mygov dGUISE & 91 H UF fgdllg - WG S &

1 few arw faepedl o W WeRl IUGH ST W1 =4 DI

1. PadAIRB
. FATAAMRC
. PAAB 3R C
4. A.B3RC
1) 1
) 2
3) 3
@) 4

LT ]
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2[Option ID=43630]
3[Option ID=43631]
4[Option ID=43632]
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1 yotta byte =

. 1024 Terabytes
. 1024 Exabytes

. 1024 Zettabytes
. 1024 Petabytes
(1) 1

(2) 2

3) 3

(4) 4

1OEERe=___ .

. 1024 CEBE

. 1024 TaoTEIEC
. 1024 SgTETgC
. 1024 UCTEIgC

11

(2) 2

(3) 3

(4) 4

b =

N 51

R

1[Option ID=43633] Question Description : general_paper_genarel paper_set 35_english_q34
2[Option ID=43634]
3[Option ID=43635]
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Identify the correct sequence in chronological order of the following four major enabling technological
developments that have paved the way for e-commerce.

A Invention and mass production of PC.

B. Release of Netscape's Navigator browser which introduced SSL encryption.
C. Development of the Internet by ARPA.

D. Creation and release of WWW.

Choose the correct answer from the options given below:
B.A,D,C

.C,A,D,B
A DB
.D,A,C,B

| S

C.-
A,

Y

) 1
2) 2
3) 3
oK
2-a1forsd g q AN &9 aTd Hefaiad IR vHE edeRt weifiet ool & el Srasiis SEmH 3

g Bifoig :

A, U} 1 3nfgspR @ 95 TaF | fafagior |
B. THUHUT ISP HRH T dId 7y & A167IeR F3oR &l aIR| [hdl 9T |

C. URUIU §RI Scx-e &l [dP N |
D. S5 S6ey Soeq @1 I 3R 34 SR 5T ST |

= B 97 Rdedl # & 8L 3 & O34 Difag:

1.B.A.D.C
a

Pro
POz
noo
W W

k .

(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=43637] Question Description : general_paper_genarel paper_set 35_english_q35
2[Option ID=43638]
3[Option ID=43639]
4[Option ID=43640]
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Given below are two statements:

Statement I: Some microorganisms, especially protozoan, are able to survive conventional disinfection
process.

Statement I : Some carcinogens, such as chloroform, are created during chlorination process.
In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct.

2. Both Statement I and Statement IT are incorrect.

3. Statement I is correct but Statement II is incorrect.
4. Statement I 1s incorrect but Statement II 1s correct.

1) 1
(2) 2
(3) 3
(4) 4

T 1 - 6 FEH oid, Aud: dRSm aRuRe et ufear o Sifda @ O ¥

FUF I - FARGE I TS FOIaad Fal=anoT ginar & e Iog 5 © |
3L U & 3Telles @, = e aw fOehedl # @ Had 3Ugt Iu¥ @ 9gd hifae:
.o 1 3 11 =t |8 & |

[ =)

.HmIT I 3R I EEt e ¥

L)

YT 1§99 &, e &Y= 11 e & |

4. %597 1 7T §, ofed 399 1L 991 § |
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=43641] Question Description : general_paper_genarel paper_set 35_english_q36
2[Option ID=43642]

3[Option ID=43643]
4[Option ID=43644]
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The framework agreement of International Solar Alliance (ISA) was opened for signature of member countries
in

. New Delhi, India

. Paris, France
3. Geneva, Switzerland
4, Marrakesh. Morocco

(1) 1

(2) 2

3) 3

(4) 4

SARPIT TR Y (HTSTHY) D YA B =031 B IER ¥ & THAER 8 (54 VI TR @Il 711 Ul

b =

1. 75 fewdt, YRa
2. U, i
3. Sivar, aeeRaTs
4. TRIH S, HRED|
1) 1
(2) 2
(3) 3
(@) 4

1[Option ID=43645] Question Description : general_paper_genarel paper_set 35_english_q37
2[Option ID=43646]




3[Option ID=43647]
4[Option ID=43648]
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Reducing Child Mortality was one of the goals of:

1. Sustainable Development Goals (SDGs)
2. Millennium Development Goals (MDGs)
3. Both SDGs and MDGs

4. Neither SDGs nor MDGs

4) 4
1 7 d1 9o &1 aed FHafeiaa § @ fegwmr ur 2

. YR fdorg Teg (THsiuh

%
%»
-
3

1)1

(2) 2

(3) 3

4) 4

1[Option ID=43649] Question Description : general_paper_genarel paper_set 35_english_q38
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3[Option ID=43651]
4[Option ID=43652]
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Dioxins are emitted during combustion of:

1. Diesel
2. Coal

3. Plastic
4. Biomass
(1) 1

2) 2

(3) 3

(4) 4

fofafad 3 fegd <5 & SR s efi Safvia sld § 2
1. Sl

. D

s

 GAE™N

1

(2) 2

(3) 3

@) 4

PO T

1[Option ID=43653] Question Description : general_paper_genarel paper_set 35_english_q39
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Given below are two statements:
Statement I: Flat-plate solar collector has an optical concentrator.

Statement II : In concentrating type solar collector the area receiving the solar radiation is several times greater
than the absorber area.

In the light of the above statements, choose the Correct answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement I is false.
4, Statement I 1s false but Statement II is true.




1) 1
(2) 2
3) 3
(4) 4

FHYT 1 - HUC o Ei garer & ueh yshifde |ifew @ar &

HAA 11 - Hebeadh WK ol §R Famer & §iX FaRmor urg &= aren a7F 3@eiues &7 & ga=r 3 &5 =1
gsT el § |

TR @ & el &, a9 B 777 @eeul d O H8l 30 &1 994 Shiferg:

1.y I d#w 1I 2=t g9eg ¥

[

e 1 3R 11 &t sraea ¥

3.999 1 9cT &, oifthd 32 I 38T &

4, AT 1 3T &, AfhT AU I T & |
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=43657] Question Description : general_paper_genarel paper_set 35_english_q40
2[Option ID=43658]

3[Option ID=43659]
4[Option ID=43660]
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Taxila was one of the chief centres for imparting:

1. Veterinary science
2. Trade and Commerce
3. International relations
4. Medical science and surgery
1
(2) 2
3) 3
(4) 4

defiren Fiferd o YR o1 {181 U $3 1 US 8- &g U1 2

g

. BTIR 3R arforsy

‘ e

4. Rl ik e
1

) 2

@3) 3

(4) 4

T

1[Option ID=43661] Question Description : general_paper_genarel paper_set 35_english_q41
2[Option ID=43662]
3[Option ID=43663]
4[Option ID=43664]
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The focus of the First Five Year Plan was on :

1. General Education
2. Professional and Management Education
3. Medical Education
4. Teacher Education
(1)1
(2) 2
3) 3
(4) 4




YT Uquig Aol &1 G dexiag ol -

AT e

. eI 3% uae e
Fafee-fren

4. e e

(1) 1

(2) 2

(3) 3

(4) 4

R
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Given below are two statements:

Statement I: A private university is established through a state or Central Act by a society registered under the
Societies Registration Act.

Statement IT : The chancellor of a private university is appointed by the Chief Minister of the State or Prime
Minister of the country, as the case may be.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct.

2. Both Statement I and Statement II are incorrect.

3. Statement I is correct but Statement II is incorrect.
4, Statement I 1s incorrect but Statement II is correct.

1)1
(2) 2
(3) 3
(4) 4

BA= 1 . Trell Bl (wisde) e & cumear aad) TEedeer sifEaa & sada Teeded
T gRT R T AT A HTAEH F Arend @ f FEr ¥

Py 11 - Taa Bl fgafaarea & genfauia (Iree) @ Fgih §af9a Toa & FEFeE 34T 7 &
vaEAA, foua oy off Hafa &1, & grr &1 ot §

ST HUA & el &, A GT 7¢ Gehedl & ¥ Had 3UGh 3o &l 994 HITAT:
Ldaa 1 3R 11 =t a8 € |
2. %y 1 3R 1 gEt T ¥
3.9 1 @8 &, afeha = 1 arera |

4. %97 1 TTea &, AfeT U 1L T8 & |
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=43669] Question Description : general_paper_genarel paper_set 35_english_q43
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Which of the following are the characteristics of Non-conventional learning?
A. Controlled and assessed by the teacher

B. Learner oriented

C. Based on lecture method

D. No fixed curriculum

E. Cost-effective

Choose the most appropriate answer from the options given below:

1. A, CandE only
2.Band D only
3.B.DandE only
4. A, Cand D only

(1) 1

(2) 2

3) 3

4) 4

TRORIRS SHERTH & a0l FEfiad T DA A E 2

A. TR1grp gRI Fafad ud gegifed
B.

¢. e fafy g s

D. SIS FAgd Uyl T8l gdl &
E. ANTd - UHTd1

= fgw v faeedl & & Had SUGW IR BN GG DITOIT:

1. AT A, C 3IRE
2. HIAB ARD
3. $9AB, D ARE
4. PTAA, C ARD

1 1

() 2

3) 3

@) 4
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What 1s the full form of NHERC'?

. National Higher Education Regulatory Council

. Non-Governmental Higher Education Rehabilitation Council
3. National Higher Educational Regional Centre

4, National Higher Education Research Committee

1) 1
) 2
(3) 3
(4) 4

AT HRE! (NHERC) T g0l S &I § 2

[

1. XS TR Ul S eied] B3R
2. F9-TTa AT BPR TR Refafaesm sefia
3. R elUR Y- :‘?IUT'JIPG Hrc‘n{
4. AR elUR Uyl X+ Kd dlHC]

1)1

(2) 2

3) 3

4) 4
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3[Option ID=43679]
4[Option ID=43680]
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Read the following passage and answer the question :

A SPACEX rocket was launched from California carrying a US-French satellite designed to conduct the first
global survey of the Earth's Surface waters, shedding new light on the mechanics and consequences of climate
chantge. The Surface Water and Ocean Topography satellite, or SWOT, incorporates advanced microwave
radar technology to collect high definition measurements of ocean, lakes, reservoirs and rivers over 90% of the
globe. The data compiled from radar sweeps of the planet at least twice every 21 days, will be used to enhance
ocean-circulation models, bolster weather and climate forecasts and aid in managing scarce freshwater
supplies in drought-stricken regions. Components of the SUV sized sattellite were built primarily by NASA's
Tet Propulsion Laboratory near Los Angeles and the French space agency CNES, Nearly 20 years in
development by the US space agency with contributions from its counterparts in Canada and Britain, SWOT
was one of 15 missions listed by the National Research Council as projects NASA should undertake in the
coming decade. One major thrust of the mission is to explore how oceans absorb atmospheric heat and carbon
dioxide in a process that naturally regulates global temperatures and has helped to minimize climate change.
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The data collected from SWOT satellite will be used in

A earthquake prediction

B. improving weather and climate forecasts

C. enhancing ocean circulation models

D. managing freshwater supplies in droughrt prone regions.

Choose the most appropriate answer from the options given below:

A, Band C only

.B.CandD only
3.A,Band D only
4. A, Cand D only

(1) 1

(2) 2

3) 3

4) 4
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Sl. No.47
QBID:35201047
Read the following passage and answer the question :

A SPACEX rocket was launched from California carrying a US-French satellite designed to conduct the first
global survey of the Earth's Surface waters, shedding new light on the mechanics and consequences of climate
chantge. The Surface Water and Ocean Topography satellite, or SWOT, incorporates advanced microwave
radar technology to collect high definition measurements of ocean, lakes, reservoirs and rivers over 90% of the
globe. The data compiled from radar sweeps of the planet at least twice every 21 days, will be used to enhance
ocean-circulation models, bolster weather and climate forecasts and aid in managing scarce freshwater
supplies in drought-stricken regions. Components of the SUV sized sattellite were built primarily by NASA's
Jet Propulsion Laboratory near Los Angeles and the French space agency CINES. Nearly 20 years in
development by the US space agency with contributions from its counterparts in Canada and Britain, SWOT
was one of 15 missions listed by the National Research Council as projects NASA should undertake in the
coming decade. One major thrust of the mission is to explore how oceans absorb atmospheric heat and carbon
dioxide in a process that naturally regulates global temperatures and has helped to minimize climate change.

FRad =i &1 9igU G WY &1 3R alfoft :

gl & Hels-old P WYY dfye Ja&ul gRT Sadr] URad &1 dife! § gRumdl 4R =5 A Sia &
SN0 T SHfYEiead U e B 3U9E @ @ WH 910 Us WaaT e ST piami-ar I gaftd
Toear T o7 |

8 - S0l d HETHNR VAP d STUE, 3Ydl THS&g et # YHSd P 90% HFT I HEHNRI, i,
SRl SR Al & 3= Wydmar (8 Sfth-R) A9 Tad 3+ & AU 39d AT5Hidd ISR Heifiet

JIfav e |

T8 I YD 21 &1 ¥ TSR & &0 U &0 I =th!  Yobierd 3ids! P Har TEHTR IR=re- Hisdl &
g, 49 9 Saarg golaHI o 96 37 @ @1 WHTiad 831 5 9 9d ®1 gaY $Yfd & YeyE & /e
o oI |

T PR & IUUE & UUCH! P HHT0] TEATT AN Tole P Hebe AT D1 oic We’= FIRT=Ie a
iR sfafve Todt Wus o gRI fpar |

THILAT 20 N1 9§ SERID! SdRe Toldl! gRI HATS1 4 e I gHd e Uoiladl & drTgr 3 faes i fear &
61 UHSs ST, SFEYT URYE GRT AN S H 191 €1 614 H ¢t SH g1 gRars-sf &
Yelag 15 O H 9 U o |

<9 I3 &1 T8 W@ g0 98 TN H31 ¢ [ HeRITR &4 TP Ul HihaT 9 argasag 9 1 3R
PBIa SILHFHISS B ATV B & ol MHldP =9 9 di¥® arguHl Hi A Pl g R o
Tadrg URad & <Rl B 8 Gerdl S g |

How many vears has it taken the US space agency to develop the SWOT satellite?

.~ 10 years
.~ 20 years
~30 years
~40 years

=k

1) 1




() 2
3) 3
(4) 4
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(1) 1

(2) 2

3) 3

4) 4
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SI. No.48
QBID:35201048 .
Read the following passage and answer the question :

A SPACEX rocket was launched from California carrying a US-French satellite designed to conduct the first
global survey of the Earth's Surface waters, shedding new light on the mechanics and consequences of climate
chantge. The Surface Water and Ocean Topography satellite, or SWOT, incorporates advanced microwave
radar technology to collect high definition measurements of ocean, lakes, reservoirs and rivers over 90% of the
globe. The data compiled from radar sweeps of the planet at least twice every 21 days, will be used to enhance
ocean-circulation models, bolster weather and climate forecasts and aid in managing scarce freshwater
supplies in drought-stricken regions. Compenents of the SUV sized sattellite were built primarily by NASA's
Tet Propulsion Laboratory near Los Angeles and the French space agency CNES. Nearly 20 years in
development by the US space agency with contributions from its counterparts in Canada and Britain, SWOT
was one of 15 missions listed by the National Research Council as projects NASA should undertake in the
coming decade. One major thrust of the mission is to explore how oceans absorb atmospheric heat and carbon
dioxide in a process that naturally regulates global temperatures and has helped to minimize climate change.
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Given below are two statements:

Statement I: SWOT satellite will monitor the surface waters over the entire earth.
Statement IT : SWOT satellite is expected to improve our understanding of climate change.
In the light of the above statements, choose the correct answer from the options given below:

. Both Statement I and Statement II are true.
. Both Statement I and Statement II are false.
3. Statement I is true but Statement I 1s false.
4, Statement I is false but Statement II is true.

b =




1) 1
(2) 2
3) 3
(4) 4
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(1) 1
(2) 2
(3) 3
(4) 4
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SI. No.49
QBID:35201049 .
Read the following passage and answer the question :

A SPACEX rocket was launched from California carrying a US-French satellite designed to conduct the first
global survey of the Earth's Surface waters, shedding new light on the mechanics and consequences of climate
chantge. The Surface Water and Ocean Topography satellite, or SWOT, incorporates advanced microwave
radar technology to collect high definition measurements of ocean, lakes, reservoirs and rivers over 90% of the
globe. The data compiled from radar sweeps of the planet at least twice every 21 days, will be used to enhance
ocean-circulation models, bolster weather and climate forecasts and aid in managing scarce freshwater
supplies in drought-stricken regions. Compenents of the SUV sized sattellite were built primarily by NASA's
Tet Propulsion Laboratory near Los Angeles and the French space agency CNES. Nearly 20 years in
development by the US space agency with contributions from its counterparts in Canada and Britain, SWOT
was one of 15 missions listed by the National Research Council as projects NASA should undertake in the
coming decade. One major thrust of the mission is to explore how oceans absorb atmospheric heat and carbon
dioxide in a process that naturally regulates global temperatures and has helped to minimize climate change.

fFraferRad e @1 ufeu d Uy o1 3R alfer :

G| & HIg-oTd P WUH iY@ Yd&u gRT SIadrg URad &1 gifie] g GRUIEl U g A= S/e- &
35 ¥ Sifymiead U et wididl SUuE & @ O a1d Us WY Ade BT Sierdi-ar I wafid
Toear T o7 |

HE - Sidl d HETHNR AP d IUUE, 3Ydl THSsyg3HIc! # YHSd P 90% HIT I HEHIRI, ZHldl,
SRl SR Al & Sw WA (815 Sih-RH) A19 Uhd & & (AU 39d HIgPIdd ISR Aefie!

Jafav e |

U8 DI YD 21 &1 T TSR & B0 Y 1 G Ib] § Ypiard 3Hibs| &1 YN TeHIR IR Oisdl &
e, 4" 9 Saarg golaHl o 99 37 @ @1 WHTiad 831 5 a1 9 ©1 gaY $Yfd & JeyE & /e
T o |

THYa! PR & IUUE & HUTH! B HHI0] TR AT Toled & Hebe A B oic Wi e’ TR a
iR sfafe Todt Wusu gRI fpar o |

T 20 GNT A SERIDT Sfafe Toidt gRT HA1S1 4 {9 & gHe e toildl & arre 3 fasfia faar s
el THS sy 3Tl 3FEYT UR¥S FRI SFTH! G216 H 7191 &R 81Y H ot SH g uRare-rsif &
Feilgs 15 02§ 9 U o7 |

=¥ [ &1 U6 WHE g0 I8 980 S ¢ [ HERITR &Y U Ul Wishar § argasaig 31 3R
Pa SR ARG B HANHA DI & ol WP =0 9 d%® ammHi ol fafFaid sxdl g &Rk o
Taarg IRad & IR0 B 8 Gl S g |




SWOT satellite has primarily been built by

A, France
B. Germany
C. Russia
D.US

Choose the most appropriate answer from the options given below:

1. Aand B only
2.B and C only
3. Aand D only
4, Cand D only

1)1

(2) 2

3) 3

4) 4
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Read the following passage and answer the question :

A SPACEX rocket was launched from California carrying a US-French satellite designed to conduct the first
global survey of the Earth's Surface waters, shedding new light on the mechanics and consequences of climate
chantge. The Surface Water and Ocean Topography satellite, or SWOT, incorporates advanced microwave
radar technology to collect high definition measurements of ocean, lakes, reservoirs and rivers over 90% of the
globe. The data compiled from radar sweeps of the planet at least twice every 21 days, will be used to enhance
ocean-circulation models, bolster weather and climate forecasts and aid in managing scarce freshwater
supplies in drought-stricken regions. Components of the SUV sized sattellite were built primarily by NASA's
Tet Propulsion Laboratory near Los Angeles and the French space agency CNES, Nearly 20 years in
development by the US space agency with contributions from its counterparts in Canada and Britain, SWOT
was one of 15 missions listed by the National Research Council as projects NASA should undertake in the
coming decade. One major thrust of the mission is to explore how oceans absorb atmospheric heat and carbon
dioxide in a process that naturally regulates global temperatures and has helped to minimize climate change.
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Given below are two statements: One 1s labelled as Assertion A and the other 1s labelled as Reason R.

Assertion A: Oceans help in minimizing climate change.
Reason R : Oceans absorb carbon dioxide.
In the light of the above statements, choose the most appropriate answer from the options given below:

. Both A and R are correct and R is the correct explanation of A.

. Both A and R are correct but R is not the correct explanation of A.
. A is correct but R is not correct.

. A is not correct but R is correct.

1) 1

2) 2

(3) 3

4) 4
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(1) 1

(2) 2

(3) 3

(4) 4
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Paper II : 9-Education

Sl. No.1
QBID:19001

Which of the following Indian School of Philosophy rejects the Vedic Authority ?

Samkhya Philosophy
. Nyaya Philosophy

. Charvaka Philosophy
. Vaisesika Philosophy
1

(2 2

(3) 3

(4) 4
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Sl. No.2
QBID:19002

A Social process takes place when there is

. an integration

. an assimilation
. a competition

. a conflict

1
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(3) 3

(4) 4
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1) 1
(2) 2
(3) 3
(4) 4
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